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QUESTION 1
DRAG DROP

Drag and drop the steps on the left into the order on the right for an end-user to access an OAuth2 protected resource
using the Authorization Code Grantl flow.

Select and Place:

Answer Area
end-user initiates authentication OAuth client step 1
OAuth client requests access token from |
TR step 2
authorization server
OAuth client requests a resource on the
step 3
resource server
OAuth client receives access token from
. step 4
authorization server
OAuth client receives an authorization code step 5
OAuth client communicates with step 6
authorization server to display login Ul
end-user authenticates with the authorization step 7
server

Correct Answer:
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Answer Area

| OAuth client requests a resource on the
| resource server

| OAuth client receives access token from
| authorization server

| end-user initiates authentication OAuth client

| OAuth client requests access token from
| authorization server

OAuth client communicates with
authorization server to display login Ul

| end-user authenticates with the authorization
| server

| OAuth client receives an authorization code

QUESTION 2

A developer releases a new application for network automation of Cisco devices deployed in a local data center. The
application utilizes complex design patterns such as microservices that host multiple third-party libraries and
programming languages. The development must be simplified by implementing an observability- driven velopment
lifecycle. Which two considerations must be taken to meet the requirements? (Choose two.)

A. which KPIs to monitor

B. description of low-level errors

C. relevant metrics to expose

D. which monitoring tools to use

E. identifying customer priorities

Correct Answer: AC

QUESTION 3

An application has been developed for monitoring rooms in Cisco Webex. An engineer uses the application to retrieve
all the messages from a Cisco Webex room, but the results are slowly presented. Which action optimizes calls to
retrieve the messages from the /vl/messages endpoint?

A. Define the ma property by using the pagination functionality.

B. Set the beforeMessage property to retrieve the messages sent before a specific message ID.
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C. Avoid unnecessary calls by using a prior request to /vl/rooms to retrieve the last activity property.
D. Filter the response results by specifying the created property in the request.
Correct Answer: A

Reference: https://apphub.webex.com/messaging/applications/paginate-cisco-systems- 82277

QUESTION 4

Which two data encoding techniques are supported by gRPC? (Choose two.)
A. XML

B. JSON

C. ASClI

D. ProtoBuf

E. YAML

Correct Answer: BD

QUESTION 5

An engineer needs to automate the configuration on a Cisco NX-OS switch. The solution must meet these
requirements:

Ansible is used The transport protocol is encrypted Support for Asynchronous requests.
Which two access mechanisms must be used? (Choose two.)

A. SNMP Version 2c

B. NETCONF

C. NX-API

D. HTTPS

E. JSON-RPC

Correct Answer: BD
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